Pre-Calculus Homework #19 — Answer Key

1) _—7+@i =7  Polar form = 7(cos120° +isin120°) _ . N
2) %(cos 210° +isin 210°) which gives you _34:/5 —%

J2 -2
3) —

4) 2(cosO" +isin0%), 2(cos72° +isin72°), 2(cos144° +isinl44°),
2(cos216° +isin216°), 2(cos 288° +1isin 288°)
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5) x:§+—|, X==——-I, X=—+——I1, X=—-——1, x=3+0i, x=-3+0i
2 2 2 2 2 2 2



6)

7)

8)
9)

10)
11)
12)
13)
14)
15)
16)

17)

(3,315) (3,77”)
3 33
2" 2
(5,240°) (5,4?”)
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(—v6 =2, /6 ++/2) or (—2v2+/3,-2y2-+/3)
r’(cos’6—4sind)=4 or r*(1-5sin’H)=4
X° +y? =49
r’ =8rsiné
X* 4y =-3x
r’cos’ #sing =-8
X +y>=x-y
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18) r=4-4sind

19) r=

20) r=6-5cos5¢

\
/ i \
: /: : A : ]: :
1 i /
|
\ =
\ i

~_/

=t

[\

/A

N
e

]




